14" C515 FLG X FLG

| 26.69

14.75

17.90
$21.00 N ]
R
10.50 |
12X®1.13 HOLES 1
ON ¢18.75B.C. L :
FLG END: o’ J L
ANSIB16.] 6.79 1.38
CLASS 125 15.00
14" C515FLG X MJ
| 26,49 ‘ 14.84
[— — '
!lH o
®21.00 $20.25 17.88 [] m

12X®1.13 HOLES

ON®18.75B.C.
FLG END:
ANSIB16.1
CLASS 125

‘u
e grae> -
TS
, o
L
1l I

MJ END:
ANSI A21.11

10.50
6 X®0.88 HOLES
4X®0.88 SLOTS
ON®18.75B.C. 1.38— ~

AWWA C111

14" CS51S MJ X MJ

’ 6 X ®0.88 HOLES

4X$0.88 SLOTS i

ON@®18.75B.C. 0.91—-
MJ END:

ANSIA21.11
AWWA C111

2 X 1.00 HOLES
TYTON END:

AWWACIT1 706




14" C515 MJ X TAP

6 X®0.88 HOLES
12X®1.13 HOLES 4X®0.88 SLOTS
ON @18.758B.C. ON @18.758B.C.

TAP END: MJ END:
ANSIB16.1 ANSIA21.11
CLASS 125 AWWA C111

14.84
1400
17.88
- 2438 — 1
R =
u Zg
D
10.50 | 10.13
— —0.86
119 —8.25— 8.50—
16.75

ﬂﬁ_r,i

14" C515 NRS GEARED RESILIENT

LBS.|

WEDGE GATE VALVE

o T

15 [[Sobdweors 2018 5p2




BEVEL GEAR WITH OPERATING NUT

f
48.27

47.58

40.71

SPUR GEAR WITH OPERATING NUT




BEVEL GEAR WITH HANDWHEEL SPUR GEAR WITH HANDWHEEL ]

13.91— I
~—10.37—
F11.42—— —8.02— M

@ 12.00 N H

T
48.27

1

47.58

40.71

34.




BARE STEM

45.65

40.71

34.71 0.50 i
|
? [
STANDARD FA14 |
MOUNTING
17.90 4 X $0.69 HOLES
ON ¢ 5.50B.C. @ 1.87 STEM

BARE STEM MOUNTING FLG =

— e

14" C515 NRS GEARED RESILIENT

1BS,| WEDGE GATE VALVE
S [repma] 110 [ Soldwors 2018 572




e WRNIN I
9 - N A . u! =
/ > @(% S | — -

AL

Azl

45° DETAIL VIEW

%

55

2 @@ @O

I

!




ITEM NO. | COMPONENT | QTY. SIZE STANDARD MATERIAL MATERIAL OPTIONS
1 BODY 1 - DUCTILE IRON - VALVES CONFORM WITH THE
FOLLOWING STANDARDS
2 WEDGE 1 WEDGE EPDM/DUCTILE IRON . . Q\SNFVZ{* C515
C9950 [LOW ZINC)
3 STEM 1 - C86700
304 55,316 SS
d LOW ZINC BRASS STEM AND STEM
Z O-RING 3 #3025 EPDM BUNA-N NUT AVAILABLE
5 THRUST WASHER 2 - ACETAL C26000
6 O-RING 1 #463 EPDM BUNA-N 100% DOMESTIC FASTENERS AND
ORINGS OPTIONS AVAILABLE
7 EXTENSION PLATE 1 - DUCTILE IRON -
8 ADAPTER PLATE 1 - DUCTILE IRON - OPEN LEFT
(COUNTERCLOCKWISE) AND
? COVER 1 - DUCTILE IRON - OPEN RIGHT (CLOCKWISE)
10 O-RING 1 #433 EPDM BUNA-N OPTIONS AVAILABLE
SOCKET HEAD ) ’ CLOSED: 104
12 CAPSCREW 4 5/8-11X11/2 18-8 SS 316SS
13 KEY 1 1/2' X 2" 18-8 SS 316SS AWWA MAXIMUM ALLOWABLE
; CLOSING TORQUE 250 FT-LBS
14 PIPE PLUG 1 1/2"- NPT 18-85S 316SS
. ! OPTIONAL HANDWHEEL CAN BE
15 HED HEAD CAPSCREW 4 7/8'-9X31/2 18-85S 316SS SUBSTITUTED FOR STANDARD 2+
16 HEX NUT 8 7/8"-9 18-85S 316SS SQ*ENASEEOSPfFI\LJJ[T)?& .
17 HEX HEAD CAPSCREW 4 7/8-9 X 4" 18-8 S5 3165S HANDWHEEL SIZE LISTED OUT IN
18 FENDER WASHER 1 5/16"X 2" 18-8 SS 316SS PARTS LIST.**
19 HEX HEAD CAPSCREW 1 5/16-18 X 3/4" 18-85S 316SS
20 HEX HEAD CAPSCREW 12 3/4-10X 3 3/4" 18-85S 3165S
21 HEX NUT 12 5/811 18-8 S 3168S
22 COILED SPRING PIN 1 10mm X 45mm 302/304 SS -
23 FLAT WASHER 12 3/4" 18-8SS 316S
24 STEM NUT 1 - C87850 C99500 (LOW ZINC)
25 OPERATING NUT ] - CAST IRON €86700, DUCTILE IRON

**@ 12" HANDWHEEL**

26

BEVEL GEAR

SPUR GEAR

__'*

14" C515 NRS GEARED RESILIENT

LBS.| WEDGE GATE VALVE

S [ 110 [ Soldwors 2018 572






